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Every Topological Space is a first countoble space
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Let X = {1, 2 3, 4} and t = {&, {11, 2], {1, 2}, X} be o topology on X, then which of the following is true 7
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Separable Spaces

Def:
A topological space (X,7T) is
said to be "Separable" if
there exists a countable
dense subset A of X,
e,
3 A C X such that

1. A is countable.

2. A= X,
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If s\ left{ {x\tau } \right)$ be a separable topology then it must have countable dense sat.
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tet X = {a,b,c} and = = {§, {a}, {b}, {a,b}, X} be o topaicgy on X, it B = {0, {a}, {b}, X} be the base of T, then which of tha following is
true 7

select the correct option

i:, Reload Moth Equations

B be the countable basa.

(X, 7) be afirst countable spaca.

All of tharm Correct

I{X_. 7} be a second countabla spacs.
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et X = {]., 2 3,4} and T = {ﬂ, {1}: {2},{1: 2}.X} be a topology on X, then which of the following is NOT true 7

select the correct option

Math Equa

Every element of X has uncountable local base.

(X. 7} be a topological space

The local base of the elerment 4 is {1

Correct

I{X_. 7} ba a first countable space.
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If $%5 has more than two points and $Yleft( {x.\tau } \right}$ be an indiscrete topology then which of the following statement is true about
s\ left{ {x.\tau } \right)s 7

select the correct option

It is not metrizable.
Correct

It is metrizable

It is Haussdorif.

Nene of them.
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et X = {]., 2,3,4, 5_.5} and 7 = {ﬂ.{l}, {2},{1,2}:X} be a topology on X, then the local base ( B, ) of the point z = 2 is.

select the correct option
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{1 {12} {21 x)

{{23,{1,2}, x} Correct

Mone of tham.
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Every matric space is first countable.

select the correct option

True

Correct

False
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Question # 4 of 10 ( start time: 12:27:47 PM, 15 February 2022 ) Total Marks: |

et X = {ﬂ\ b, c} andt = {ﬂ, {a,}_. {u: b}, X} be a topology on X, then which of the following is NOT trua ?

select the correct option

Math Equa

(X. 7} be a second countabla space.

Correct

(X. 7} be a Topological space.

(X, ) ba a first countable spaca.

all of them.
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et X = {]., 2,3,4, 5_.5} and T = {ﬂ,{l}, {2},{1,2}:X} be a topology on X, then the local base ( By Jofthepointz = 1is_______

select the correct option

i:, Reload Moth Equations

{1h {2} x}

None of them

{1} (1,2}, x}
Correct

{1h{2h{12h X}
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0 if 2=y
Metric topology induced by d{z, y) = { 1 if z#y iscalled, \_\_4_\_

select the correct option
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dizcrete topology

Correct

indiscrete topology

Mone of tham

usual topology
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Question #10f 10 ( start time:12:26:13 PM, 15 February 2022) Total Marks: |

which of the following statement is false?

select the correct option

The set & with usual topology is second countable.

Discreta topology on areal line R is second countabla

Correct

Discreta topology on a countalble st X iz second countable.

any finite aat with any topology is second countabla.

Click to Save Answer & Move to Next Question
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et X = {a, b e} ond = = {0, {a}, {b}, {a, b}, X} b2 o wpotegy on X.it B = {0, {a}, {b}, X} be the bose of 7 then which of the fallowing is ]
true 7

select the correct option

(X, ) ba 0 second countobla space

@)

all of tharm

@ Correct

(‘\'.\ 1-] be o first countabls apoce

@]

B be tha countobile boss

@
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et X = {1,2,8.4,5,6} and r = {0, {3}, {4}, {3, 4}, X} be a tepolagy on X, then which of the following is rue? ]

Select the correct option

O

the set {i, {3}} & on cpen cover of the zet {4}.

O

Th aot {ﬂ. {3}, {4]:} in on open cover of tha sat {ll}

Correct

Nona of them

Thi aet {B, {3}, {4]} is on open cover of the set {2}

Clhick 1o Bove Anewer & Move 1o Next Question
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et X = {1,2,3,4.5,6} onc 7 = {0, {1}, {2}, {1,2}, X} be o mpology on X, then the local bose ( B, Jofthe poinez = 3, 4,5 s

select the correct option

Hone of tham

Q

{1}, {2} x}
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@ Ve Correct

Chok to Sove Anewer & Mows to Mext Question

Download More Quizzes Files From

VUAnswer.com


Correct


MTHB34 - Topology (Quiz No. 3)

quilz start Time: 12215 P, 1S February 2022
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Total Marks:

which of the following stotement is true?

Al spaces ore not matnzoble

Correct

O

All spaces are metnzable.
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et X = {1,2,14,5,ﬁ}a|u r= {b},{l},{!},{l,ﬂ},.\'] be o topology on X, then the local bose ( B, Jofthepointz =2s_______ ]
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select the correct option VUAnswer.com
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Correct
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Hana of tharm

{1}, {1,242}, x}

O] O

1k 42h X}

O
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question & & of 10 ( Start time: 12:12:51 PM, 15 February 2022 ) Total Marks:

et (X, r] be o metrizoible then which of the following stotamant is true I

select the correct option

Al of them

O Correct

(X, 7) iz separable

{7\', r} ity tha courtable choin collection

(X, ) s second countalble.

O
O
O

o Sove Armwer & Move o Mext Questan
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# 8\ left] [x,\tou | \right)s be o separable topology than it must hove countakble denes sat. |
|
select the correct option
ol
Correct

T
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Question # 3 of 10 ( start time: 12:17:38 PM, 15 February 2022 ) Tatal Marks: |

vt X = {1,2,3,4) ctr = {0, {1}, {2}, {1,2), X} b c sopaciogy ar X thir which o the folkowing is i # |
select the correct option

tx._fJ be o epologionl spoce.

@)

Every element of X has countabla locol base

@)

(X, 7) be o first countoble space.

all of tharm

Correct

Q)

Clhok 1o Sove Artwar & Mowve to Nl Cuestion
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Question # 4 of 10 ( start time: 12:18:22 PM, 15 February 2022 ) Total Marks: |
et X = {a,bcland = {I'!,ln},{d’,h}, X} b= atopalogy on X, than which of the following is NOT trus 7 i
select the correct optlon

(X, 7} ba afirst countable space.

O

(X, 7) ba o second countable space

Correct

Al of thasm

{.\'.r} ba o Topclogicnl spoce.

O
O
O

Click to Sove Armwer § ¢ b Bt Qumstion



Correct
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Question # 10 10 ( Start time: 12:15:55 PM, 16 February 2022 ) Total Marks: |
et X = {1,2,8 4} and v = {0, {1}, {2}. {1.2}. X} be aropalogy on X, then which of the following is HOT true ? J
Select the correct option

(X, 7] be a first countable spoca

(X_. P] ba o topological spoce

every slermant of X has uncountobls local base

this lecal basae of the olerment 4 i« )

®) Correct

Clhick 1o Bove Anewer & Move 1o Next Question
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Metric topology induced by d{r, g} = [+ — y| on R is ealled’ .\,

Salect the carrect option Download More Quizzes Files From

None of them

VUANnswer.com

indiscrete topology

usua topalogy
V Correct

discrate topology
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0 if ==y
Metrie topology induced by d(x,y) = ¢ 1 if z#y is called’ 5\ 4\ _\_

Select the correct option

Mone of tham

Incliserate topalogy

discreta wpalogy

Correct

usual topalogy

Chick 1o Sove Answer & Move to Next Question
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Question & § of 10 ( Start time: 11:16:23 AM. 15 February 2022) Total Marks: |

Let (X, 7) be o rmeatrachle then which of the following stoterment is true

Select the correct option Download More Quizzes Files Fro

(X, 7} is second countable

VUAnswer.com

(X, 7) is separcble.

&l of therm
Correct

{X, 7} has the countable chon cdlection

Click b Sove Answsr & Movs 1o NaaT Question
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thﬂ-ﬁﬂllbﬁﬂﬂ[“‘lmllﬂﬂlﬂ,llmyﬂﬂ] Total Marks: |

et X = {1,2,3,4, 5,8} andr = {0, {1}, {2}, {1, 2}, X} e o tepdogy on X, then the locd bose ( B, ) ol theponte = 3,4, 548 ___

Download More Quizzes Files From

salectthocarrectoption  \/UJANswer.com B

{{2h{1.2}. X}

X
| e Correct

{41} {2}, X}

Nong of them

Click to Sove Answer & Mowve 1o Mext Question
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Question # 7of 10 { Start time: 11:16:06 AM, 15 February 2022 ) Total Marks: |

et X = {l,ﬂ.ﬁ,li}mdr = {ﬂ. {1} {ﬁ}r{l, E}, I} ba a tapalogy on X, then which of the fallowing is NOT true #

Download More Quizzes Files From

selectthecorrectoption  \/UANSwer.com

(X, ) be a lwpologeal spoce

The logol base of the element dis O

Correct

{X, ) be afirst countable space

Evary glemant of X hos uncounmibls iocal basa

Chick to Sove Answer & Move (o Next Question
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Question & 6 of 10 ( Start time: 11:14:21 AM, 15 Fobruary 2022 ) Total Marks: |

tet X = {1,2,8,4} ond T = {0, {1}, {2}, {1,2}; X} be a topology on X, then which of te lolowing is rue 7

Select the cormect option

Every sloment of X hos countoble locol bose:

et e Correct

{ X, 7) be ofist countoble apoce

{-X, 7) ba o topologicd spoca.

Sove Angwsr s 0 Naxt Ques!
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Let X ={1,2,3,4,5,6} ond 7= {0, {1}, {2} {1, 2}, X} be o topdlogy on X, then the locolbase | B, Jaf thepointe = 2is_______

Select the correct option

{{th L2} {21 X)

tah {.2hX) Correct

None of tham:

{1k {2}, X}

Click o Sove Answar &Move 1o Nexl Quesiion
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Question # 2 of 10 { Start time: 11:11:07 AM, 15 February 2022) Total Maria: |

Which of the tallowing staterment is folse?

Select the eorrect option

blserete topology on a countable set X |s second countobla

Any inite 5681 with ony togciagy 18 second countable

Diserete topology on areal line R is second countobhe,

Correct

The set B with nsnal topalogy is second countahle.

VE ANSWEN & MOVE 1o M
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Question # 3ol 10 ( Start time: 11:11:44 AM, 18 February 2022)

Totol Marks: |

frue ?

Let X = {a,b,c} and = = {0, {a},{b}, {a; b}, X'} ba aropoiogy on X, f I3 = {0, {a}, {b}, X} be the bass of 7, then which of tha following is

Seloct the cormect option

(X, 7) be alirst countoble space

Be the countable bose

Al of tham

Correct

(X 7) be o second countable spoce

Click o Save Ansaor & Movo to Next Question
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Question # 4 of 10 ( Start time: T1:12:42 AM, 16 February 2022 ) Total Marks: |

et X = {1,13,‘1,5.6} and T = {l'_'l. {3}.{‘1}, {u,-&},x} be o topolegy on' X, then which of the following is ue?

Select the correct option

The set {0, {3}, {4}} ls on open cover of the set {4}
Correct

The set {§; {3}, {4}} is o1 open cover of the set {2}

Nare of tham

Tha =t {0, {4} } is an cpen cover of the aet {4}

Chck to Sove Answer & Move 10 Next Question
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Question 21 o110 ( Start time: 11:10:23 AM, 1S February 2022) Total Merkes: |

which of the fallowing statement is foalza?

Salect the correct option

The set ® with usnal topology is second comntable.

Any finite set with any topology Is seconid countobla,

Oiscrate topoiogy on a countoble sat ¥ s saecond countable

Diserete topology on a real ine R s second countoble

Correct

Chick o Sove A
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Question #10 of 10  start time: 11:06:04 AM, 15 February 2022 )

| Time Left

Quiz Start Time: 10:59 AM, 15 February 2022

Total Marks: |

et X = {1,2,3,4} and 7= {0, {1, 2}, {3, 4}, X} be atopoicgy on X and A = {2,3} is a den

select the correct option

(X, 7) mar or may nat be a separable topalogy

rrable topology.

Correct

then which of the following is t

true?
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Question # 9 of 10 ( start time: 11:05:07 AM, 15 February 2022 ) Total Marks: |

Y "] be a metrizable then which of £

select the correct option =
Q Relood Math Equations

(X, ) hos the countabla chain collection

All of tham

Correct

, 7| is smcond countable.
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Question # 6 of 10 { Start time: 1:03:04 AM, 15 February 2022 ) Tg

Metric topology induced by dlx, y) 1 if x#y iscalled!

select the correct option

Mone of them

@, Correct
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MTHE34 - Topelogy (Quiz No. 3) Quiz Start Time: 10:59 AM, 15 February 2022

Question # 7 of 10 ( start time: 11:03:45 AM, 15 February 2022 ) Total Marks: |

tet X = {a,b,c} and 7 = {§}, {a}, {t}, {a, b}, X} be a wopaicgy on X, if B = {0, {a}, {8}, X} & . then which of the fallow
true 7
select the correct option =
amd!ﬂuﬂ\EmﬂE

B be the countable bas
(X, 7) be countable spaca.
(X, countabla
All of them

Correct
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Question # 8 of 10 ( Start time: 11:04:29 AM, 15 February 2022 )

Total Marks: |

et X = {1,2,3,4,5, 6} and v = {0, {3}, {4}, {3,4}, X} be atopology on X, then which of the following is true?

select the correct option

All of tham.

Correct

[ the sat ! }.{4}} is an open cover of the set {4}

L [4} _‘\'.} is an open cover of tha set {4 }

41} iz an oper ver of the set {41
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qQuestion # 5 of 10 ( Start time: 11:01:37 AM, 15 February 2022 ) Total Marks:

Let X = {1.2. 3,4,5,6} and 7 {0, {1}, {2}.{1.3}. X} be atopology on X, then the local base ( By ) of thepointz = 2is_______

select the correct option =
Q Relood Math Equations

(112111, 2}, X}

Correct
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Question # 5 of 10 ( Start time: 11:01:37 AM, 15 February 2022)

tet X ={1,2,3,4,5,6} and 7 = {0, {1}, {2}, {1, 2}, X} be a topology on X, then the local base { B, ) of the pointz =&

Select the correct option -
@ Relo

@ x).

& Correct

{1}, {12}, {2}, x}.

Mone of them.

{1} {2}, x}



Correct
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Question # 4 of 10 ( start time: 11:01:02 AM, 15 February 2022 )

Every metric space is first countable

select the correct option

Correct
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Question #10of 10 ( Start time: 10:59:08 AM, 15 February 2022

et X =1{1,2,3,4,5,6} and 7 = {0, {3}, {4}, {3.4}, X'} be a topology on X, then which of the following

Select the correct option

B [the set 10, {3}, {4}, X} is an open cover of the set {4}

[ The set{(l, {3}, {4} } is an open cover of the set {4}.

—

. : The set {0, {3}, {4}} is an open sub-cover of {0, {3}, {4}, X}

All of them

Correct
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Question # 2 of 10 ( Start time: 10:59:46 AM, 15 February 2022)

Every Topological Space is a first count

Select the correct option

True

Correct

False
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Question # 3 of 10 ( Start time: 11:00:23 AM, 15 February 2022 )

oirts and §4left{ {¥\tau}

1 of the following statement s tr

selectthe correct option

tis metrizable.

Mone of them.

t is Haussdorff.

t is not metrizable

= Correct
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Question # 10 of 10 ( Start time: 10:37:07 AM, 15 February 2022 ) T

Metric topology induced by d{z,y) = |z — y| on R is called' ' __\_"_

select the correct option

None of them

indiscrete topology

usual topology

Correct

discrete topology

Click to Save Answer & Move to Next
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It $\left( {x,\tau } \right)$ be a separable topology then it must have countable dense set.

Select the correct option

True

Correct

False

Click to Save Answel
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Question # 8 of 10 ( start time: 10:35:40 AM, 15 February 2022 ) Tota

let X = {1,2,3,4,5,6} and 7 = {0, {1}, {2}, {1,2}, X} be atopalogy on X, then the local base ( B, }ofthe pointz = 2is_______

select the correct option

iﬁ- Reload Math Eq

None of them.

{42 X

{2h{1,2}, x}. Correct

iy L2 {2 ah

Click to Save Answer & Move to Next Que
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Question # 9 of 10 ( start time: 10:36:27 AM, 15 February 2022)

0 if z=y
Metric topology induced by d(z,y) = ¢ 1 if x#y iscalled) '\ \ '\ _

select the correct option

indiscrete topolagy

uzual topology

Neone of them

discrete topology

Correct

Click to Save Answer & Move to Nexd]
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Question # 6 of 10 ( Start time: 10:34:20 AM, 15 February 2022 )

let X = {1,2,3,4,5,6} and = = {@, {3}, {4}, {3,4}, X} be a topology on X, then which of the following is true?

select the correct option -
lf:p Reloag

All of th .
Lol Correct

The set {{@, {3}, {4}, X'} is an open cover of the set {4}.

The set {0, {3}, {4}} is an open cover of the set {4}.

The set {0, {4}} is an open cover of the set {4}.

Click to Save Answer & Move {]


Correct
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Question # 5 of 10 ( start time: 10:33:45 AM, 15 February 2022) 1

let X = {1,2,3,4,5,6} and 7 = {0, {1}, {2}, {1, 2}, X} be atopology on X, then the local base ( B; Jofthe pointz = 1is____

select the correct option

@ Reload Mat

{1y {25 X3

{1k {2h {12} X}

1}, 41,2}, X}.
HIL8.1 Correct

Mone of them

Click to Save Answer & Move to Next


Correct
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Every Topological Space is a first countable space.

Select the correct option

False

True

Correct

Click to Sa
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ITH634 - Topolegy (Quiz No. 3) Quiz Stari

uestion # 1of 10 ( Start time: 10:30:42 AM, 15 February 2022 )

tet X = {1,2,3,4} and 7 = {0, {1, 2}, {3,4}, X} be a topology on X and A = {2, 3} is a dense set, then w

elect the correct option

(X, 7) must be a separable topology.
Correct

Mone of them.

(X, 7) mar or may not be a separable topology.

{1,2} is o closed set.

Click to Save A


Correct
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Question # 9 of 10 ( Start time: 10

2554 AM, 15

lot X = {1,2,3,4,5,6) J..u:_.-{aﬂ.{:i_}.z|}.g:t._4}:'1u..- logy an X. then which of the following s true?

Select the correct option

The set {0, {3}} i an apen cover of the set 4] ¥
|
! = \) =
| el {0 {3}, {4}} s an open cover of to s (2}
| 1 =
| {043}, {4} } i an o {4}

Correct

= O Type here to search


Correct
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Question # 3 of 10 ( Start time: 10:32:16 AM, 15 February 2022)

Every metric space is first countable.

Select the correct option

| True
Correct ) )
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Every Topological Space is a first

Select the correct option
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-ountable spoce

Correct



Correct


o ey e T LT 1 S

Prrver=8013854a-785b-4df7 -b06ic-caced;

MC210200573; SAIMA

[ MTHB34 - Topology (Quiz No. 3)

Qunnttonn}ano(-:..- thime

I Di24:47 AM, 18 Fabruary 207 )

Which of the In|'--.|.5, tatemant Is true

Select the correct option

Correct

® O Type here to search
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Soloct the correct option

Correct
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Solect the correct option

Correct
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Question# 20110 (

X=|a.b

Saloct the correct aption

- o Type bore to sesech

Correct
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Question # 3a10 ( Start lime: 10:21:47 AM, 18 Fobru Iy 2022 )

(X = {a,b,c) (0. {a}, {a,b), X} Xt

Solectthe correct option

Correct

= 0 Type here (o seareh



Correct
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Question # 40110 ( Start tim

Solect the correct option

t B with usual topology is second « vt bl

Correct

i o Type heve to search



Correct


MTHEI4 - Topolegy (Quiz No. 3)
Question # 10010 ( Start tin

X={1,234) == {0, (1,2}, (3.4}, X}

Select tho correct option

2 O Typenersw seaen

Quilz

Correct
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MTHE34 - Topology (Quiz No. 3)

Time Left

Quiz snmfi-ru:'llhﬂﬁ AM, 16 February 2022

Question # 10 of 10 { Start time: 10:15:31 AM, 15 February 2022 ) Total Marks: 1

which of tha following staterment is falsa?

Select the correct option

F, Relood Math Eguotions

any finite set with any topology is second countoble

Dizcrate topalogy on o real line R is second countable

Correct

The set R with usual topology is second countahble,

Discrate topoiogy on 0 countable set ¥ s second countobla

Back

Recent



Correct
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MTHB34 - Topology (Quiz No. 3)

Question # 9 of 10 { Start time: 10:13:36 AM, 15 February 2022 ) Total Marks:

et X = {a,b,c} and 7 = {0, {a},{b}, {a.5}, X} be o topalogy on X it B = {@, {a}, {b}, X} be the bose of 7. then which of the following is

Select the correct option o )
! | Relood Math Equations

| [X,7) be a first countoble spoce

Al of therr

Correct

| .\'. 7| be o second countoble spoce

B be the countable basa

Back Recent
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MTHB34 - Topology (quiz No. 3) Download More Quizzes dxit@sefeoam 15 rebruary 2022

Question # 6 of 10 ( Start time: 10:0%:12 M, 16 February 2022) \/ U ANsSwer.com

Total Marks: 1

true?

select the correct option

Which of the following statement is

All spaces are metrizable.

[ Back ]

All spaces are not metrizable.

Correct

[ Recent ]
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Em

Quiz start Time: 10:03 am, 15 February 2022

Question # 7 of 10 ( Start time: 10:10:35 AM, 15 February 2022 )

Total Marks:

st X = {1,2,3,4) and T = {8, {1,2}, (3,4}, X} be o0 wpalogy on X and 4 = {2,3} iz a denze =t

than which of the following = trus?

4 qguations
| (X, T must be o separoble topoiogy
Correct
{1,2} Ioss
rone of them
(X, T rear or mioy not be o seporoble topology

" Back (K:L;)r
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Correct
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MTHB34 - Topology (Quiz No. 3)

Question # B of 10 { Start time: 10:12:25 AM, 15 February 2022 ) Total Marks:

st X = {1,2,3,4} and T = {B, {1}, {2}, {1,2}, X} b= o topology on X, then which of the following is true #

Select the correct option o )
! | Rrelood Math Equations

all of therr

Correct

(X, 7] be a topological space
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MTHB34 - Topology (Quiz No. 3)

Question # 3 of 10 { Start time: 10:06:17 AM, 15 February 2022 ) Total Marks:

st X = {1,2,3,4} ond T = {8, {1}, {2}.{1,2}, X} b= a ropaotogy on X, then which of the following is NOT true 7

Select the correct option o )
! | Rrelood Math Equations

Correct

[X,7) be a first countoble spoce
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MTHB34 - Topology (Quiz No. 3)

Question # 4 of 10 ( Start time: 10:07:13 AM, 15 February 2022 ) Total Marks:

st X = {1,2,3,4,5,6} ond + = {0, {1}, {2}. {1,2}, X} be o topoiogy on X, then the local base ( B, Jofthepointe = lis_______

Select the correct option e )
! | Rrelood Math Equations

[t(1h 2133

{1} {2}{1.2}.X}

{{1h{1,2}. X}
Correct

 Back (&) Recent
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MTHB34 - Topology (Quiz No. 3)

Question # & of 10 { Start time: 10:08:11 AM, 1§ February 2022 ) Total Marks:

st X = {1,2,3,4,5,6} ond r = {0, {1}, {2}. {1,2}, X} be o topoiogy on X, then the local base ( B, Jofthepointz =2is_______

Select the correct option o )
! | Rrelood Math Equations

{{2}.{1,2}. X}
Correct

{{1}h.{1,2},{2}.X}

{{1},{2}.X}

 Back (&) Recent

L



Correct


g “al (@ 10:05

A ps://vulms.vu.edu.pk/C [ ©
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MTHB34 - Topology (Quiz No. 3)

Question # 2 of 10 ( Start time: 10:05:19 AM, 15 February 2022 ) Total Marks:

st X = {1,2,3,4,5,6} ond + = {0, {1}, {2}. {1,2}, X} be o topology on X, then the local base ( B, Jofthepointz = 3,4, 50 ______

Select the correct option o )
! | Rrelood Math Equations

{12}, {1,2}. X}

{{1}h {2143

Correct
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Question #10 of 10 ( Start time: 10:04:21 AM, 15 February 2022) Total Marks: |

et X = {1,2,3, 4} and = = {0, {1}, {2}, {1,2}, X} be o topalagy on X, then which of the follo NOT true
select the correct option ,
% relood math Equations

Every elerment of X has uncountable loce
{ X, 7} be afirst countable space.
(X, 7) be a topological space.

The local base of the element 4 is i
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Question # 101 10 { Start time: 10:04:01 AM, 15 February 2022 ) Total Marks:
Lat |. 1-. T) be a metrizable then which of the follow g Etataement s trus

Select the correct option e )
! | Relood Math Equations

(X, 7} is separabie
all of therr

Correct
(X, 7| hos the countoble choin collection
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Question # 7 of 10  start time: 10:02:18 AM, 15 February 2022 ) Total Marks: |

Metric topology induced by df z — y| on R is called

select the correct option ,
@ Relood Math Equations

topology

indiscrete topo

None of tham

ueual topology

Correct
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MTHE34 - Topelogy (Quiz No. 3) Quiz Start Time: 09:56 AM, 15 February 2022

Question # 8 of 10 ( Start time: 10:03:00 AM, 15 February 2022 ) Total Marks: |

et X = {1,2,3, 4} and = = {0, {1}, {2}, {1,2}, X} be o topalagy on X, then which of the follo, = true ?

select the correct option ,
@ Relood Math Equations

Every elamer

countable spoce.

All of tharm.

Correct
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Question # 9 of 10 ( Start time: 10:03:48 AM, 15 February 2022 )
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Total Marks: |

ce iz a first countable =

Every Topological

select the correct option

Correct
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Question # 6 of 10 ( Start time: 10:01:31 AM, 15 February 2022 ) Total Marks: |

{ [x.\tau } \right)$ be a se n it must hove countable denze set

select the correct option

Correct

Falze
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Question # 5 of 10 ( Start time: 10:00:42 AM, 15 February 2022 ) Total Marks: |

et X ={1,2,3,4,5,6} and = {0, {3}, {4}, {3, 4}, X} be o topolagy on X, then which of the followi

select the correct option ,
@ Relood Math Equations

3}, {4} X} isanope

} i an open cover of the =

The set

o L
all of tham.

Correct
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Question # 4 of 10 ( Start time: 09:5%:56 AM, 15 February 2022 ) Total Marks: |

et X = {1. 2,3,4,5,6} and 7 - {:I. 11t {2:}. {1.2}. X} be atopology on X, then the local basa { By )ofthepointz = 1is_______
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Question #10f 10 ( Start time: 09:56:15 AM, 15 February 2022) Total Marks: |

et X ={1,2,3,4,5,6} and = = {0, {1}, {2}, {1,2}, X} be o topolagy on X, then the local bose | By Jofthepointz = 2is_______
select the correct option ,
% relood math Equations
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Question # 2 of 10 ( start time: 09:58:14 AM, 15 February 2022 ) Total Marks: |

T =y
r # y is called

Metric topology induced by d(=z, u) - l 1

Select the correct option Reload Math Equations

Correct
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ot X = {1.2, 3,4} and v = {0, {1, 2}, {3, 4}, X} be a topology on X and A = {2,3} is a dense set, then
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